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1. A slender rod of length 2r and werght 1 is attached to a collar at B and rests
- on a ercular evlinder of radius r. Knowing that the collar may slide lteely
along a vertival gaide and neglecting friction, determine the value of 3

carresponding to equilibrium, also calculate the reactions at 8 and O
(2504)

2. The umform 11-m shaft has a mess of 100-kg and is supported by a
hall-and-socket joint at 4 1n the horizantal floor, The ball end 8 rests against
the two smooth vertical walls as shown. Delermine the forces exerted by the
walls and the Aoor on the ends of the shaft.  (25%%)
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3. The solid half-cylinder shown has a2 weight of W It is being pulled by a cord
AB. For impending slippage at O, determine (a) the angle &, {h) the
corresponding cable force £ Denoted £ the coefficient of Friction between
the half-cylinder and the Nour,  {25%)

Tabla
£

4. Determine the magnitude of the force P required to maintain the eguilibrium
of the linkage.  (25%1)
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